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| . applicable f;::r the capdidates registered with the School
. of Open Learning for the B.Com. ( l}[ons.}. These marks
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-respect of the students of regular colleges, at the time
of postingiof awéfds for compilation of result.
(i:f) Answers may be written either in Eng—tish or-'lHindi;
‘ but the same medium .sl:r_.\uld be used throughout lth.c |
paper.
Attemp_i All questibns.'A!! questions cafry equal' ma-rks. :
Use of simple calcu!ator is allowed.
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(a) “The profit maximi_satioﬂn is: nlot an operationally feasible |
¢criterion.”. Do yo.u'égrée '?' Hustrate yoﬁr views. ‘6
& A firm \;vhose Icosi of. capita'l.is. ‘l(]%l‘-is_ c;onsider'ing
tw'o' mutually e.)(giusi\.'e pfojects P an.d Q, the'd&ai]s -

of which'ax_'e ;

- Year - "Pro‘ject P Projéct Q

(Rs) (Rs)
Cost -~ 0 100000 100000
. Cash’ lnﬂowé g 10,000 50,069
2 | _-zo,doo 40,000
3 30;090_ 20,000
4 45000 | I0,0;JO
5 | 60.,000‘ 00w

Coinpute the Net Presént Valug at 10%,' Prof'ltabi.iit)'r

Index and Internal Rate of Retyrn for the two

" projects.’
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3 - 30,000
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"The Modern Approach to .corporate finance is an

improvement ‘over the traditional approach. Comment. 6

>

A Cdmpa'ny is-c'urrently considering the replacement

s

- of a°machine originally costing Rs. 50,000, The current

“book value of the machine is Nil and it can continue

-

for ahother 6 years after which it will have Ni salvage

value.'Thc cdst- of new machine is Rs. 2,10,000 but

it .will require another Rs. 30,000_to install it. The new



(s L wm
machine would have: @' six year life and no éalvégé

- value. The proposed after-tax profits from the e_xistiﬁg

.anlt.i new machine are as under l: _: .
'Year' o _ N Afte'r-.tax Profits L
Existing Macl.lipe ) Ne"-v -.Machi.n.e .
Rs) - _'(Rs-)_'-'
| S a0 .. _2,40;900
2 2,59,060- 310000
J -3,10,_60&) o 350000
4 360000 | E | 410000
s 410000 - '- '4,3_@960_
K | 3 5,00,060 o 510000

P.TO.
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The firm is taxed at 35 per cent. The company uses

the straight line depreciation method and . the same is |

_allowed for tax purposes. The cost.of éépital is 12

per cent. Advise the company about the feasibility of
the proposal using NPV methr o 9
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.1. 3 2,00,000- - 240,000 -

2., 2,50,000 C - 3,10,000

I

30000 - - 350000
4 ] o 3,60,000 _ 4,10,000°
5T 410000 _ 430000

6 : 5,00,000 5,000
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Whtle eva[uatmg smgle project with convent:onal cash

flows, both NPV and ERR methods give ldentlcai

demsmns Explain. . . 6

r

The followmg i3 the capltal structure’ of Sim - Company

Ltd. as ‘on- 31st March current year :

. Equity Share 1 10,000 shares- -_ " - Rs. A

- (of Rs. 100 each) . 110,60,000.
12% I’reference'shares
-(of Rs, 100 cach) 400,000

600000

" 0mo0
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The market pricé- of the 'clom'p‘any-’:s" share is Rs. 10

and it is expected that a'dividerid of Rs. 10 péf share

would be declared at fhe e‘nd of the current year. “The

dividend growth rate is 6 per cent.

B ([) ' B

@

e

If the com = is in the 35 pef cent tax‘_brack_-et_,

- compute the weighted -average cost of capital

based on market value weights.

3

[

Assuming that in order to finance an expansior

plan, the company inténds to “borrow a fund o

. Rs. 10 lakh bearing 12 per cent rate of interest
what will be the company’s revised weighte

' 'averége cost of capital -based on market valu

weights 7 THié_'ﬁnancing decision -is expecte:
to increasé dividend from Rs. 10 to Rs. 12 pe

PTC
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share. However, the market price of equity share
is expected to decline: from Rs. 110 to Rs. 105

per share. o 9
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{c)  Give a critical appraisal of Mbdigliani-Milier appfoa_u:h '

to the theory of capital structure. .6

The KR Lid. manufactures a full line -of fawn fumniture.
The average selling price of a finished unit is
Rs. 2,500 and variable cost s Rs. 1,500 per unit. Fixed .

cost for the company is Rs. 50,00,000 per year.

]

() What is the break-even point-in- units for the

company ?



By 5%
(i) -Find the degree of operating 16vera§e at the

following production and sales levels :

4,000 units; 5,000 units; 6,000 units; 8,000 units. -

(7if}  Does the degree of operating leverage ‘increase
or decrease as the production and sales levels
rise .above the break-even point ? What

.copclusion would you draw from such -increase

“or decrease ?

() By what péfcentage :ihe- EBIT will increase if
the company’s'sales increase . by 10% from the
production and sales level of 8,000 units- ? 9
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‘AExplain.stab_le dividend -policy. What is the significanc

of'stabfliry of dividends ?

PQR Ltd. had 50,000 quity sh.ares of Rs. 10 eac
outstanding on Jénuary I. The shares ar.'e' “current!
being quoted at par in the market.. The corﬁpany no’
intends to pay a' divi&end of Rs. 2 per .shva_re for tk
current C‘alf':‘ljldat' year'._‘llt belongs to a r-isk-clas.s \J\.fhp;‘
app;opriaté cap.ita_l‘izati-on.rate is 15%. Using Modigliain
Mi'iler and zi_ssy's'ming' no taxes, ascertain the price ¢

the ‘company’s share as it is likely- to prevail at
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_end of .the_ year (i) when dividend-is dec.:fared, and
(r.‘r')A when no diyidep& is dfac]a;;ed. Also find “out the

‘ ‘number of .new equity shares that the’ corln‘pany must-
issue to meet its investment needs of Rls..l 2 facs,
'aséurﬁing % net .iﬁ’(ihﬁﬁmé of Rs. 1.1 ia'cslra_ndk also
assixm_in.g tha_t the divider.xd is .paid.l.Also shou.' that‘l

.the total market value of the sha'res' at.the'.engi of

the accounting year will femain th; same.'_ whefher_
dividends are either- distributed or_ né)_t_' distributed. 9 .

() R i A % s it i @
() PQR fﬁﬁ?@g ?ﬁ }mq. 50,000 ‘;,“I%,az'} I 0%
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What 'a;re the costs and bgneﬁts associated .with

~inventories ? Discuss. o .6

XYZ L. was started a year ago with a paid-up equity
capital of Rs. 40,00,000. The other details are as

urider

: Eami_ngs; of the company : Rs. 4,600,000 -

Dividend paid : Rs. 3,20,000
Price-eatning ratio 1125

Number of shares ~ -1 40,000. ‘
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6] ‘Finci.the company’s dividend payout ratio. Find
the market price of a share of the company at

this payout ratio, using ‘Walter’s model.

(i) 1s the company’s' dividend payout ratio optimal
s per the Walter’ model - 9—Why—?-— P
(iff). What is the market price of a share of the
. company at the ‘optimal dividend payout’ ratio

as per. the Walter's model ? : 9
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~

BTO..



PN

(a)

)

o )_ R 3
o mﬁ%wwmﬁwﬁm-
.WIWWW‘T{W*

Fit Gl m,wﬁwzﬂ.ﬁj'

 (_:" “mmmmga%aﬁwmﬁw

_wmmmﬁagmm%?ﬁ?

_(m) m—amé} Wmmw

awﬁaﬁqmmmﬁéﬁmw

wmw%7

Discuss ‘the consequences of len, hening and

-shortening of the credit ;')_eriod.by a -fim. 6

Megé Steel Ltd.- has a present annual sa[es.tumove,r
of Rs. 40,00,000. The unit sale price is Rs.20. The

variable cost is Rs. 12 per unit and fixed costs amount



B
to Rs. 5,00;000 per 'annum.. Tlh.e present credit periﬁc’
of | :.).n,e.m‘ohtlvl is propos‘ed. to be exte_ndeq -to'eithel

) -2'_0;.3 m_'onthslwhichevér \yilf be more pfoﬁtablei'-The

following _additional information is available on the -

basis of credit périod of ¢

I month " 2 months |3 months

Increase in sales by - - 0% T 30%
% of bad debs to : ' e |
csales . | e 2 5

Fixed cost will ‘increase by Rs. 75,000 when sales wil
increase by.30%'_. The coﬁnpa'ny réquirés a pre-tax retury
on -investment at 20%.
'(E)@Wﬁmmmﬁwmﬁeﬁh
fﬁa A % trﬁmm’t & faéfam aﬁﬁm
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(c)  What is meant by “Trading on .Equi-ty”. Expfain an

discuss its fimitations., -

fd . Xavier Ltd. is considering_thrée_ financir: ~*me. Th

key information is as follows -

(/) Total funds to be raised, Rs. 2,00,000.

. (19 Financin‘g plans.'

- Plans Kquity (%) | Debt (%) :I’rgference ("/:
A !DO _ - ] -
B 50 50 - -
C 59 - 50

(iily Cost of debt & per cent;” cost of prefereni:

shares & per cent

BT
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(v Eqﬁily shares of the face vaiue of Rs. 10 each

will be '-iﬁéued at a prefnium of Rs. 10 per share. .
)  Expected EBIT, Rs. 80,000.
Determine f_or each plan :

(a) Eamings per share (EPS) and financial break-even

, point-.-
(_b) “ Indicate if any"'of the ]jla'ﬁs dpminate, aﬁd
c‘:omﬁute the EBIT. rahge among ;the'plans for
indifference. - N o '. ' 9
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‘What‘does combined leverage measure ? What shéuld
be the changes in thé- degree of combined lever;ge
' .in é;ch of  the . following situations 92 a 6
_- )] _The’ fixed cost increases
(i:’)‘ Thé sale pr'ice deéregses. o
From the following da:ta, com_pﬁts&_z?s&z dureiiop of -the- '
__o.peratin-g_ cycle : B
Stock : Rs.
lRaw_n-'lateriai | . o 25,000
Work-ih—pro.%resg p - . | iG,OOO
IFinished goods - R . ' _24,060
Pt;rchas.es o o i 1,05,000
Coét of lgoodsl sold . ' - 1,50,000
Sales E . | 175,000
Debtors S .. - 40,000
.Creditors' | _ - _ - 20,000

Assume : 360 days in a year, ' 9
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25,000

16000
24000
100000
150000,
175000

' 40,000

20,000
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-

(.c) . Explain the Baumol's. mode! of_ césh management.- 5_ 

() ' Wrrite.s;hort fotes on. rl‘;e fo]]dwi"ng . '-2x5,=10
() Liqu_idit)l’—p'rpﬂtabiiity tradé—qﬂ’" in work_iné capital

(in indlfference level

(n)fmwa%aﬁam#waﬁﬁm
(H)ﬁr-r%ﬁﬁam'efwf—mﬁm%ﬁaq
(o-mﬁsﬂa Tt F wem-enwwEd e- o

(i) SR TrEe

B S 3400



	001
	002
	003
	004
	005
	006
	007
	008
	009
	010
	011
	012
	013
	014
	015
	016
	017
	018
	019
	020
	021
	022
	023
	024
	025
	026
	027
	028

